35500

B st W

4 5*_; ; 7
@ Ux= Uy =7 ot Uy A

] / } v L ; ?*
U o+ u m<aﬁ;f§;}+ Uy 2
— g 2 - N 2
R A 8 (G5
7 2 3 g2 Lz 9 A . 2 2
0 e 0 ), | A T T - 0
4~ Uy T\
(" %) (7" “"‘f)
Uee Uyt ity=u”_ Also rewele u's g,
BT
= U +7 - 2,7 -4 g"/"?_ + U //?_
(4 ,%ngl‘ ra
=y 2
/’L/%éf; A 5 A@Qfé @74 e
2 2 L . ;
c-u'"= - Mx”éfx/»z) —u=v ‘*3;"_1,:“”7‘ MV/Z ”""’x %’

A , nods
- 4 Ux%,L X({ “X/gz)

1', ; ‘) .
—,:) L{x = -V - =1 M U = C. - .ﬁ‘l :V"a\{g.
o s(1-0) ¥
; : i . )
. e o [ 2 27 2N _ |
Thow W= Juvuy =i+ (14, = ¢ gt

9 /\/0 /GSS O‘E géﬁewég;; ,‘h "?La/{ér'éeg &»//'2 7@2 X)/ /;»/wg/

10, ho Z—Consjponead” (16 uy=n = U’ -3

e T S

(’4 V/xef/

C:H

LY \\
e

) f
f‘




SRS

35500

13) A, N
\/

P

2
CZ a C 2 2%/1)'%5/; /f - f -qj 1t'Z/“/?L)»7"z'f / 5{? gﬁ
A (1~ tx
v |
2. }?, V3 2 R 2.2 |
C-U =c-u-Y + ffff’/{"a (/5 éﬂ?)( 4 /)>@
(I Mﬁ‘%@f | (1- "”/)3 ==

gecwm - e dam:z v uofor ;:g WW@&T"@ _

- C Wg,(),,,;m {,r Ue e,
2 ' o ;
__m@,ué >0 9/ V<<

DOWz, 6&{,@{ ré%@: ééWd on fﬁo 2ot
lle 0quotion 1260 k&) bud™ clouge tfe

&cgwa@/?rbec.@u& é@gaaﬂﬁb’?f@%@n&) ff’

Pwm %\b O‘“‘WW

o= ) =V | 'D § iz
N E L m ,\ oV A4+ V/a
% - /__. = )‘Q J ”/{“”'4""‘7"(: /

UD "f-'«‘?f/&

e ‘r‘“*'—;;’gr““;’ JT 000 15555
W e 4»*;;; = | g 9499666 V
Hso I = ()" (1) (14200420 212

il
/\ éﬁé%m A0 dam ﬁozf%fj&f waoeﬂwf/éﬁ

- 4,0{304?%

Kgb X F a1




N
N

Y st

35500

@ 3 *g’m&% @ﬁ)@w —t@ cortt,
¢'s Frouee alteclad 2 , MOVIA3 wik t/w—-é?ﬁ«:_

Sf@zce,sf(mp A L‘% k)eQaqj.Z‘ U 5 »mQ,SG w S

bl A S U O SE
A - UxY 4 —0,5.0.%
) : I —— c?
{jy = ..Q_é. C )Ux = é'§i; L

' e & >
gﬁ’%gx:%& u,}){ §A
g/
2 4 S

Y :
Ui = U=V 0-v _ _ay
4- T4y = A -0

cr
Upy = Ugp=V _ U=V
1- Uy A-8%
.{:'l-
Wak U,V U-v _ v
-
4 *‘gL
ol 5
U-V =V - uyv W —2v+ U=0o
o B Tl

(,{1;}*2(“ V{bﬁcﬂwm

2. g 2 2

\/ﬂaé*ﬁé‘g LNAC C X icT-ug”
Z e

solfny with the minus sigute e v C

sy

=

§dj4ﬁ %A\r

oy

(®




| |

' 35500 '

9

O Frow the pomt of View ﬁgi Hie observer
ot t\%* | :

% ' \“x\ é !
(8 \\\{

‘ \g -m—-%- @f’ @,’w@ MovIug

CTTTT T T with vebo iy

| T peciod _ Bth lugth of Gpbh = T

A

let s look oF Hhe frjeuels

&

- 7 %
LaT = Lot +d
7¢T 7 3

f‘""”'"""“'«

b)

f

Considon Huree gopeuh

O L{f‘?g* Is *‘?siééﬁd il?,, é; wQ

. y P ‘ o ]

5(*“\/623 5(3 Vcl) 5(1-% V)d
t =g (€.- zwé'(‘si_,,.,,_.g) =¥ (- Q}c{

. iid'ge«i% ‘f?@zé: Lo cﬂac,é X3=0 t%:’a;t.._

20D T - 4d° /‘T‘.-fmi = K’C;/[ py

Clock rest “icawé 1S wnpraweed . X-eAls |s %{2;

=t/ = g’[ ._/,\ - ¥ 24 ?@i 5.2: -

p

@)




